3-1-28RREBBRBEFIIHBHR

AETHIEHE 1108F = 10982 FE 1082 FE
BT R8T HAL 377,345,533 386,017,776 370,212,387
BYPEEHA2 68,526,585 73,045,179 69,466,104
THEET HA3 116,936,181 114,060,868 105,618,124
HEMAR(A)=AL+A2+A3 562,808,299 573,123,823 545,296,615
BEAH 11082FE 1098 F 2 1082 FE
HE &2+ A 2Bl 3538 3645 3704
HEISEEE ANBIB2 1171 1172 936
B4 NEL(N)(B) 4709 4817 4640
HEE 98 EHEMA(T) (A) / (B1) 138,395 136,795 131,024
EIERTIBEHEMA(T) (A) / (B2) 62,481 63,572 64,084

B =

1LABRARRIRZBEREE - A=WMH
HEUAR=HEM R LA D+ BB H+THEES H




